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Topic: Mathematics-Section A
Item No: 1

Question ID: | 100201

Question

Type: MCQ
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Question:
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Question ID: 100202

Question Type: | MCQ
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Topic: Mathematics-Section A
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Question
D- 100204
Question
Type: MCQ
. + 1 N . -l sw@a-amww
Question: (20 — a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256
AT e :
A 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
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Question ID: | 100205

Question
Type: MCQ

X Loorm? 3 &
Question: I 1im X e * + yuny %,Wa, B,'YER,W?Cﬂ'CW T %% =7 2

x—0 x sin? x
A: o?+B2+y2=6
B: o +By+vya+1=0

C: af?+By2+yaZ+3=0




D: o2 =+ BE i "1"2 =4
Topic: Mathematics-Section A
Item No: 6
Question ID: 100206
Question Type: | MCQ
2 1
Question: | STaTfmTabe | dx I -
- 3 + 2 sinx + cosx
A: tan—1(2)
—_ ™
B: tan 1(2) — —
4
1 [ 11'
c: —tan"1(2) - =
2 3
D: 1
2
Topic: Mathematics-Section A
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Question
D- 100207
Question
Type: MCQ
2 y = y(x) 21 (57 ST HA A0
Question: P - ]
(1+ eh)[_f +y} =1 9 GG A T [o, —J el | ©IZE lim e¥y(x) FM ¢
dx 2 X300
A: E
4
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2
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2
Topic: Mathematics-Section A
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Question
D- 100208
Question
Type: MCQ
4
49 L @9 <6 (@4 A by +10y—8=0 € 2x—3y=0, be R — {E}@‘QI‘W vl | A
Question: xz 2
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5
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Question MCQ

Type:
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Question: 2 2
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Topic: Mathematics-Section A
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Question
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Question
Type: MCQ
— M M —> M FAN M —
49 a=3i+j 932 b=i4+2j+ k| WIS 43 (@ ¢ 49 @F6 (€F9 T
Question:
- = - — = — -
a x(b X c): b +Ac NNAIBE | W b € ¢ 2RHAEI VA 71 27, A @9 T TS ¢
A: -5
B: 5
C: 1
D: -1
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Question
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Question
Type: MCQ
A ¢ B ™ w2t 2rw @l Bleita por Tafe (@id 2o 4@ o '@ cos_l{%) | A oG
Question:

Breanas 0% e w9fwe | B Tt A 200 9«73 @y 0% «f+*60 wwfze | 1 B w3 Siewm zre
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Question ID:

100212

Question Type: | MCQ

Question: prq) =(pAar) w G0 TAGeT 1%@% e ¢
A q=(pAr)
B: p=(pnAar)
c: PA)= (PAq)
D: pArq) =1
Topic: Mathematics-Section A
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Question 490213
Questi
T;Jpees: on MCQ
_ A(a, 3), B(b, 5) € C(a, b), ab > 0, 5% & @b fagres «faw® P(1, 1) | I@ AP @16 BC
Question:
CRATE Q(k,, k,) TT® (1 7, K, +k, G0 TGy W 20 ¢
A: 2
B: E
7




C: g
7
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Topic: Mathematics-Section A
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Question
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Question
Type: MCQ
A A i . (A /\)
49 a € b v20 WEW O IFF (©F4 AT NHF1T (&9 o — | I la + b) @3g
Question: 4
A A A A
(a +2b +2(a X b)) GF NG (19 ) T, O 164 cos20 G W (3 ¢
A: 90 + 272
B: 45 + 182
C: 90 + 3/2
D: 54 + 904/2
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Question ID: 100215
Question Type: | MCQ
€ logqnt
Question: ﬂﬁ f(l'l) = I ﬂ dt, a > 0, 90 f(e3) +f(e_3) HERNCE
1+t
1
A: 0
B: 2
2
9
C: _—
loge (10)
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2 log. (10)
Topic: Mathematics-Section A
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Question ID: 100216

Question Type: | MCQ

{@ s lx -1 =y =52

Question:
( (a9 ( GFe] 267 ¢
A: E S]_'ﬂ_l [E) i l
2 ) 2
B: 5_1T — E
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4 2
D: 5_1T — l
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Question
Type: MCQ
FL:y=mx+c,m>0% P:y2=4x AGLST GF IS &7l | A= L @ P wfgeivee M
question: | & N 0 (@7 SR @98 L @RI H 2 12 — y2 =4 2[Igres Gi6 ™K | S[e (redl 9tz @ O T
| P ufuqred #dm, F 26 H 2[igred wife ™, @3k F M0 x- O3 499 s 9/Ee | e
OMFN bE® (&4 ( G 2[4 ¢
A 26
B: 24/14
c: 4.6




D: 414
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Question ID: 100218

Question Type: | MCQ

f:R—=R,
Question: f(x)=|x—1|cos|x—2| sin|x—1|+ (x —3)|x> —5x +4|,
SCABO (T (@ S ST 7T S0 TR 2 ¢

A: T
B: 3
C 3
D: 4
Topic: Mathematics-Section A
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Question
ID: 100219
Question
Type: MCQ
question: | ¥ S=1{1,2,3, .., 2022} S T[S TSI YT (T&T G AN AL 2022 F 9IS 1 ZEAH

HI 191 67 &
A: ﬁ

1011
. 166

1011
c. 127

337
o 112
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Topic: Mathematics-Section A
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Question ID: 100220

Question Type: | MCQ
fx) =3(x*-2)3+4 ¢ R
G S F0F G W59 GTe%f [Tabel 34 ¢

- P:x=0 RHre £ ZIT o= T R

- Q: x =2 ML f 99 G0 T [

R: x> 2 939G f @16 Y oA T |
SICHA @WIG A 2

A: B P e Q 79y

B: BYHIF P € R 79

C: BYAE Q € R 79

D: P, Q @ R FF(F2 7e)

Topic: Mathematics-Section B
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Question ID: 100221

%‘pe;tb” Numeric Answer

49 S={0€ (0, 2m) : 7 cos20 —3 sin0 — 2 cos?20 =2}
Question: Olale CH R RN SRR
x2—2 (tan20 + cot20)x +6 sin20 =0, 0 € S, TEFER @aFA T
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Question
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_CI_)ue§tion Numeric Answer
ype:
49 a, b e R G 9ib %71 AHA &) a, —4a, — 7 FoAe [/E @@ @ @5« 76 @@ e
. St | —s gt
Question: | 5% ALHa e = 3, —1,2b @R b, a, —21 A — 7 = s = % @S
a~ + a- —
x—y+z=0 (T (a, B, 7y) %ﬁt@ (&M (T O a+ B +y 0 |
Topic: Mathematics-Section B
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Question | 400224
Question .
Type: Numeric Answer
Question: | #da,, a,, ay, . . . S T 2eife AT Y 2—;‘=4 = | ©IZE da, K T A
r=1
Topic: Mathematics-Section B
Item No: 25
Question
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?ues.tion Numeric Answer
ype:
44 n GG GeTIEP 76y |
13 i
4 f T -
Question: Wﬁwm[ﬁ+%] < Fagfefon 75 T T AT OF T AT 9 (7 L
2j%6 3 ATHE O 2 45 .1 | @ Fagfea © wre 79 W %?{tﬂauﬂﬁmm
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ID:
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_I(?;pees:tion Numeric Answer
Question: | 0 €32 1 @8, 3 x 3 WMGH A2, AT #% FL2T @9FS GFf5 (Tere AL, T
Topic: Mathematics-Section B
Iltem No: 27
Question
D- 100227
?ues.tion Numeric Answer
ype:
49 p <R p +2 T 4o GNIERs 77T =
p! P+ D (p+2)!
A= I I I
Question: (p 1) (p +2) (p +9)
p+2) (p+3) (p+ 4)
A 47 o G3% BT pU R (p +2)P €T AEH TS TG T prE=R (p +2)P TR A OF ©ITT |
G o d9R B E9 (IR 2 |
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Question
D- 100228
Question .
Type: Numeric Answer
— L + ! + L + ...+ 1 = k,mmmawm
Question: 2x3x4 3x4x5 4x5%X6 100 x 101 x 102 101
Topic: Mathematics-Section B
Iltem No: 29
Question
D- 100229
Question .
Type: Numeric Answer
Question: ¥ S={4, 6, 9} @2 T={9, 10, 11, .., 1000}. F% A=fa,+a,+..+a, : k € N, aj, a,, ay, ...,

a, €S}, A T— A O T 83 T =

Topic:

Mathematics-Section B




Item No: 30
Question
D: 100230
_?ues.tion Numeric Answer
ype:
, 419 ¢, @ x2+y2—2x— 6y +a=0 JTBI, y=x+1 FIACIYT ACATH w9 dfefaz za
Question:
cy : 5x2+5y2+10gx +10fy +38=0. W r ¢, IJC&T ATY T, O o+ 12 T T
Topic: Physics-Section A
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Question
D: 100231
Question
Type: MCQ
IS (A) 8 &b 77 K@ (7o +Hiaie] ea=ioa 2RbId Toid Fed (3 | 3 S0aa oY
y , 3
p = femgfon P r 23, W A T=K P/, Sl i Ao = e
Question: /2
K @2 U |
TG (R) 8 gl s T (il TR, TR W A0 @ (AR @) o1 |
A (A) <R (R) TST 79 K (R), (A) <7 A0S F=e 77 |
B: (A) 9% (R) TS 79 FE (R), (A) 93 AT T 73 |
c: (A) 7% fFF (R) 719) 74 |
D: (A) 719 797 % (R) 79 |
Topic: Physics-Section A
Item No: 32
Question
D: 100232
Question
Type: MCQ
G T T M 208 (RS 20T O3 61 (@9 TS GG h THOR STARS G | 93 A& AL
Question:

T4 FEAD §WWW| QTR TR SofTe e 5541 -
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3
Topic: Physics-Section A
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Question ID: 100233
Question Type: | MCQ

dx]
Question: = Jx g —
Jx + 4, ( dt )iy

A: 4
B: Zero
C: 8
D: 16
Topic: Physics-Section A
Item No: 34
Question
D- 100234
Question
Type: MCQ

a5 o TeTT A1 IT WY I PR e Witz (Brad o) | m SR @ 9%, & <ted
2GR IR v 5ifers aFe 205 | @ @ I ToF AGE 71 Sfeers AfefFag (N) 7Y @ 3gha
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v
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v
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v
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v
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Question
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Question
Type: MCQ
Ouest 36 E sifexile 7w o1 SHEa e SIfgie @F 7t 60° (it arFe i 2eer | bhew
uestion:
e, qta Sifesiie 2Ea—
A oGl
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Topic: Physics-Section A
Iltem No: 36
Question | 400236
Questi
T;Ipees: on MCQ
. 1kg@azskngﬁﬂwwc@§aainm?+2}\'+i¢m2 —3?—2?+ﬁ | g qiod
uestion:
SAEH(S W B (I S_E (S5 OIF W, FRFRS @ (S50 21t A9 2@ ?
A P Al

A i +274+k

M M M
B: =J1 —D P4 k

At s
c -2i +2k

P P M
D: =21 = § 2k
Topic: Physics-Section A
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Question ID: | 100237
Questi
T;Jpees: on MCQ

&3 (A) 8 FTT (9 A1 e wisl &1 Ml iR =4 9 7 |
Question:
TR (R) 8 el (9T 1 e AL S "2l oA T |

A (A) % (R) TS 79 «RR (R), (A) 93 ADF e wffz1 |
B: (A) €= (R) TS 7 5% (R), (A) & AT Fie wf@ =1 |




c: (A) 1% 5% (R) 715 714 |
D: (A) 1% 77 € (R) 719 |
Topic: Physics-Section A
Iltem No: 38
Questi
ID‘feS 'oN" 1100238
Question
T;pe: | MCQ
Question T G576 Ol (S faeel @18 AP SEF I (el 24, @ O 2 @ol1F 23 (AR [
u on:
T )
A: g A |
B: 8 el g #ACT |
C: 1
' 1 QE ™~ |
D: 4 @9 Jfa AT |
Topic: Physics-Section A
Iltem No: 39
Questi
ID‘feS 'oN" 1100239
Questi
T;lpees on MCQ
Question: L Tl @36f 9 (AT, <=6 il 2o e @ wieg | 9ifel o Sie @em g @36’
| oo IR AR (R PR 2E—
A: 2mJL/ (g cosa)
B: 21TJL/ (g sina)
C: 27 fL/¢g
D: 2mJL/ (g tana)
Topic: Physics-Section A




Item No: 40
Question ID: 100240
Question Type: | MCQ
G ISR T YW GG W R FA099 g Wmre
3
pn[— — LJ Ffr =R
p(r) = 4 R
Zero W r>R
Question: -
N ol (P (AT Y R R Y P R, ofe (R Wi 27 -
T [3 I'J
A: —_— - —
4gg \4 R
r [3 r]
B: —_— | - = —
3gg \4 R
.m0
4 €p R
b P [1 _ 1)
5 E{] R
Topic: Physics-Section A
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Questi
Do | 100241
Questi
T;pees: ion | \ica




IS (2 AGF AR W& R D ofs e &3 A |

Question: | @G 12 TG (Fa, MG (T ATAZE AE & 7R 7007 @RI 792 A TergeiE
CRE A |
A: &Y [ 93 ITY [ ToEe M |
B: @Y [ 3% @Y 11 T2 79 7 |
c: IS | ) [ I@ 11 79 77 |
D: JGY) [ A9 73 € 3@y 11 795 |
Topic: Physics-Section A
Iltem No: 42
Question
D: 100242
Question
Type: MCQ
Ouostion: | TP 7T 4O O cafl I 5% | 4 O 716 RIS T 07 SR o7, T, DA & T
uestion:
o uioa ST vifRifEerE 2@m—
A LD
[}'1 + [}'2
B: 20’1 0'2
0'1 + 0'2
+
C: —Ul b2
20‘1 0'2
D: E}'l + 0'2
0102
Topic: Physics-Section A
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Question
D 100243
Question MCQ

Type:




Suestion: % H TR G350 S & G356 ©fee 84108 E =440 sin100mt NEH ARTS | SfGGEr a6
el 751 271 | @ TSR TG a.c. SHNRBIER 7o TE—
A: 44 A
B: 1.55 A
C: 22 A
D: 3.11 A
Topic: Physics-Section A
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Question ID: | 100244
_IC:);pees:tion MCQ
1 H St @3 100 € (@14 TS G0 FSF 6 V G0 (A AN IS | S@—
Otestion () T T #{7F, ST QAT TG 7 TS SEF N (AT 2
(b) TSI ©fEe AT F T3 15 ms 7, & FER (GTECH(E FO6! *& Heq 21 2
(C7eTl TR In2=0.693, e ~3/2=0.25)
A: t=10ms; U = 2 m]
B: t=10ms; U = 1 m]
C: t=7ms; U =1m]j
D: t=7ms; U= 2m]j
Topic: Physics-Section A
Item No: 45
Question ID: 100245

Question Type: | MCQ




*ff7 1 7 11
(a) UV -af () g wiiEee fom o
Question: | (b) X - A (i) el AT
(c) WiErHeEe (iii) A%, ACE
(d) SREIRS o= (iv) FATS M piriee I
A (@)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
B: (@)-(i1), (b)-(1), (c)-(iid), (d)-@Av)
c: (@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
D: (a)-(iii), (b)-[), (c)-(ii), (d)-(iv)
Topic: Physics-Section A
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Question | 400246
1Q_;Jpees:tion MCQ
Question: (b FERGCR 9fHI& E A4 Sll#ifoe Siiteiia waer (rd) \ | A 2R 5ifexle 2F 23, O Siteg
| o o em—
A: hc
EN — he
B. hch
EN + he
C: hA
EN + he
D: hca
EN — he
Topic: Physics-Section A

Iltem No:
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Question

D: 100247
Question
Type: MCQ
(IO *fe3 Sgire [T 9, 79 G ZIRGTew ARG W4 FERGER FTFAER G (i) FeTm
Question: | SRS T2 (ATF LYY SRCHIMS FHATL R (i) FE SIS T4 (ATF AL SIS
(2 T T2 23 |
A S
B: 4:3
C: 1:4
D: 4:1
Topic: Physics-Section A
Iltem No: 48
Question
D: 100248
Question
Type: MCQ
Quest «w% AM AR [{wi 2ief 8 V @3z WE% R’ 9 V 20, S3wita RameiniE (TSEme S90eH)
uestion:
?é"cq'_
A: 0.8
B: 0.5
C: 0.2
D: 0.1
Topic: Physics-Section A
Iltem No: 49
Question
D: 100249
Question
Type: McQ
Ouest b 551 SAT [0, @S em (® 20 6 97 witg R o TR (% 50 6 w1 it | A 25 G eifam
ueston:
(T T, 2 (FRCe 24 15 0= T 21, ©r9 @ SRiF e q0E FAY §79F TE—
A 0.001 cm




B: 0.002 mm

C: 0.002 cm

D: 0.005 cm

Topic: Physics-Section A
Item No: 50

Question ID: 100250

Question Type: | MCQ

% (o e (0 it i #Ifsest, fsferfe sitameete st g |

N

Question:
(A) EaR GF! A9 AF AL (FCEE 0.5 mm A |
(B) DEFIFIE CRCETI =01 50 |
(C) @M (FEE 15 2.5 mm|
(D) BEFRFR (FFE 45 93, 196 (@4R A [t T3 |
(E) @03 0.03 AENRE T SR | ©@ @ SIE F T -
A 2.92 mm
B: 2.54 mm
C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B
Iltem No: 51
Question 499251




Question

Numeric Answer

Type:
G T u AR ATOEE 0 @Fie ToEa M ATiee 2@l | T/0a SGShRe “ilEl R | <77 4
Question: | F@HTF IS LTS 251 T SIS 2l Do o D4 ZeTt | I8 707 el sifeal
GFE AT, TR T ACFES (FieoR [ fofa
Topic: Physics-Section B
Item No: 52
Question
D- 100252
Ques.tion Numeric Answer
Type:
#f2 2 (20F h T, 7 O 9 399 Toig Sfeasr SR I e 23 9249 I8 S ah
Question: )
sfeica e Aeat = (4@, (h << R) FfRTE 1K (use R, =6400 km) O o= |
Topic: Physics-Section B
Item No: 53
Question
D- 100253
Que§tion Numeric Answer
Type:
27 G foIrs, G i e ['y = Q 2lf2/fS BI7f P, @32 ¥ d, (XCF 517 P,(>P,) a8 T
Question: | d, C© Sl 2l | S1ALA SISl 22 Sl#NEE gemm @l i AN |
(@, 92 _37)
dy
Topic: Physics-Section B
Item No: 54
Question
D- 100254
_?;pees:tion Numeric Answer
G (R (I G- 2GR 7, [ (e #ifie] Beig=ied @eieat e a1l fifEre =i 2T |
Question:

2
g e, & e s sl e 2@ "‘TR J/mol K, a <& S 274




Topic: Physics-Section B
Item No: 55
Question ID: 100255
Question Type: | Numeric Answer
=
RifEe goqig it 2Eg 9 2| Al
| 9 Q) 9(Q) 90
Question WA W——W
IA
| |
I 1
6V

Topic: Physics-Section B
Item No: 56
Qlfestion 100256
ID:
Ques.tion Numeric Answer
Type:

GF6 T SFIFE PSR AL 5 cm R 97 @ (5195 (77 37.68 X 104 T. & S OIEe 2417
Question: | &l Al

(73, A 100 €RR w=3.14)
Topic: Physics-Section B
Item No: 57
uestion 1 100257
Question .
Type: Numeric Answer
ouest i I A1z 4 1 @R 9 1 2]e0 Fea @36 27 Tz ferr wralfoe ziat | A Trs afiess gite

uestion:

1 {12 W @R B RS w1 A @G3R B /R S #fE AR Sitef 2 I
Topic: Physics-Section B
Item No: 58




Question
D- 100258
Question ,
Type: Numeric Answer
uest 314 cm TMCER <36 ©OF e 14 A ©fEe 2RifEe 205z | ORI JSRFE IFET OZ| & PR GIEF
uestion:
I 9 2@ A-m?| [Given 7 =23.14]
Topic: Physics-Section B
Item No: 59
Question
D- 100259
Ques.tion Numeric Answer
Type:
il 2SR WA M, =8 M, X-Y ©e 71 [eifers | 2= 0 (@ afernss Tie dfevms 2 <=3
— M ~ Ay
Question: Z<l) (S-M, SNEF AR ATHNE /3 | P =431 — 343 j — 5k (S 7T (I ween M,
TR T ez Freifers ©tet Sii#ifes 2ea | Siee (i M, SIS @73 M, 40 2fer@el (e
1[5 fofe |
Topic: Physics-Section B
Item No: 60
Question
D- 100260
_CI_)ues.tion Numeric Answer
ype:
Quest IM GO p-n THCER [e ABR (IFRTR) 0.6 VT, O@ 6 x 106 m @03 Fer=ifae siwere, oo
uestion:
(Y SISl /2RET ZF x10° N/C|
Topic: Chemistry-Section A
Item No: 61
Question ID: 100261

Question Type: | MCQ

Question: Fba (i (eTeire AT RTee Terge o ¢ REe wes oy JewH
A BCl, «R% SF,
B: NO &< H,S0,




c: SF, «R< H,S0,
D: BCl, @3 NO
Topic: Chemistry-Section A
ltem No: | 62
Question ID: | 100262
_?;pees:tion MCQ
Na(g) T3(g) = 2NHs(g)
Question: | 59y 5
2 e Aass Rems (e Farers) 9ag Tesm NH, @& (15 721 281 I
A: H,, 142 3+
B: H,, 0.71 =
c N,, 142 (I
D: N,, 0.71 (e
Topic: Chemistry-Section A
ltem No: |63
Question | 100263
_I(?;pees:tion MCQ
Ouestion. @B 250 mL SRS [P 100 mL SIS NaCl <& 5% (w/v) T34 (od] F41 2271 | €2 NaCl
Bl % 220S (FeA! SRR Clfer St SRR e 23 | 2we w36
A: S e
B: AR el
c: 7 TR, G SHUE (O] 22
D: e CZ, SLLTFI 22N

Topic:

Chemistry-Section A




Item No: 64
Question ID: | 100264
Question
Type: MCQ
vt Na, Mg <32 Si 9 €2 SR ©i7f (GLE#) AT 496, 737 @78 786 k] mol ! |
uestion:
Al &3 AL ST O (G ) 28—
A; 487 k] mol 1
B: 768 k] mol ~ 1
C: 577 k] mol~1!
D: 856 k] mol ~!
Topic: Chemistry-Section A
Item No: 65
Question ID: 100265
Question Type: | MCQ

Question: W‘T ﬁlﬂm “’Jﬁt—ﬁi}?{” 9{7% kﬂw BIEEAGIET e
A SRIfES JEFFREFT 9 739

B: g e fon =@ 4y 2 i 739

c: diFforelaz Rua e ke «fbe

D: SR PR S

Topic: Chemistry-Section A

Iltem No: 66

Question ID: | 100266

1Q_}l/.ipees:tion MCQ

Question: | SIS TreTil R AL fEcaa RiTFam Zizrgiee s Tgs 27 &k Aredl T
A: ZH(OH) ”

B: Zn0O




c: [Zn(OH) >~
D: [ZnO, >~
2
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Question ID: | 100267
Question
Type: MCQ
Question: Tt Wi2E0 € @A AEEocE AT Ted IR AT UE IYTFH—
A LiNO, €t NaNO,
D: LiNO, €% Na,O
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Question ID: | 100268
Question
Type: MCQ
Question: | SCl,, O,, CIF, €% SF, &3 (FHZS *RATR o[ W7 e (S8 R TG To—
A: 0,1, 244K 2
B: 2,1,24R0
C: 1,2, 2489590
D: 2,1, 0¢R 2
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Question ID: 100269
Question Type: | MCQ

Question:

R WG 4ied T (E0TH 4 (FiNoa gl 36EHm 2




A SC3 + an +
B: Tid+ , Cu2 +
C: VZ + T13 +
D: an + ; MI’IE +
Topic: Chemistry-Section A
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Question
D- 100270
Question
Type: MCQ
Question *TGH[eT] S LEAR P KMnO,, 273 31 g TG [ N0 QARG #1619 2l s7=ryefeita
uestion:
ARTES @ Tifae SRS It | @2 [z e ome i Aol ofaea—
A: 5
B: 1
C 0
D: 3
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Question ID: 100271

Question Type: | MCQ

Question: W52 (I (SICOre (@FREg SoReRE Sitz—

A TS € TR TG

B: AN IS ¢ SnEfEs

C: TS S0 © TiREiys

D: ECAN @IS € s Siaien
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Question ID: 100272




Question Type: | MCQ
Question: W5 (@0 O e F0E FE
H3C\.
CH,
I
A: 4
N: CH,
H,Cc CH
™
CH,
H3C\
CH,
I
B: N:
/ N\
CH, H
~
CH;
CHs
|
N
C: .
I‘\‘I
D:
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Question ID: | 100273
Question
Type: MCQ
et e (9l it (@D srEitiERE @ fon Tedm o
uestion:
(Consider the double bonds in the structures are rigid and not delocalized.)




CHj, CH,
A:
>
CH, CH,
CHj CH,
CH; CH,
CH, CH,
. CHj CHj
>
CH, CH,
D:
«—>
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Question ID: |100274
Question MCQ

Type:




AgCN

A < gC /\ & NaCN " B

Question: g Besm  CoH50H —HyO CoHsOH-H,0O 241 &%
Ttz R (@9 ‘A7 @32 B IAGFE—
. @ © ® ©
A: TS N=C 2 N=¢&
B: SN C=N, AN C=N
@ ©
¢ S , ~Nc=n
. @ ©

D: SN C=N, AN N=¢
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Question ID: 100275
Question Type: | MCQ

OH

Br NH,OH P,O
£ » A . » B T 2

Question: A

CHO

sve Jfea Tt st 59 | T ‘C 22—
Br Br
A:
CN




OH
Br Br
B:
CHO
Br Br
C:
CHO
OH
Br Br
D:
CN
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Question ID: | 100276
Question
T;pe:I MCQ
CH;
Cl
—_— NH3 BI'Z
Question: A" (CgHgClL,O) —— > CgHCINO m"
N

Tz [T [ea 3 | @61 A7 2838 —

H,




o3

A: Cl
Cl CHj
O
Cl
B: 1
H,C
O
¢l
C:
¢l
CHj;
O
H
D:
Cl
CH,CI
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Question Type:

MCQ




+ —_
N =NCl
aae  aNalOH
Question: + A ) %QW
(el 7161 96
F e (R fees A’ (3 @RI
OH
A:
OH
B:
NH,
C:
NH,
D:
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Question ID: 100278
Question Type: | MCQ




NH,
Question: (i) AlIH (i-Bu); > A CH3CHO S B
(ii) HyO dil NaOH, A (=41 Tesm)
CN
Tesim ‘B’ 6 22—
A OHC4®7 N =CH - CHj
8 H,oN CH=CH-CHO

CH; —N=CH-CHj;

O
Il

D: H>N C—-N=CHCHO

St
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Question ID: 100279

Question Type: | MCQ

Question: GIGE CEIF{E[ @hi Faees (ﬁi"{tﬂﬁﬁs) @HC&RT GHH W‘T—

A CTETT

B: EIRIETIG




C: ARG

D: oI
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QLfestion 100280

ID:

Question

Type: MCQ

Quest el X’ 16 i3, 28 NaOH watel wisy % NaHCO, W3t STaRy | 2%/ FeCl, T (19 X @1
uestion:

7ol o7 | @l x5 g%e—

OH

>
Q |« —
m

(s
:

&

»OH




Topic: Chemistry-Section B
Item No: 81
Question
D- 100281
_Crlue§tion Numeric Answer
ype:
KCl €& 74.5 ppm B39 &R ©f€ <3 #a2re! R (&FE 435 129 m~ 1) @7 @i 100 Q| (T34 1
el BfEw) | @ @2 @IF 149 ppm SIHTA KC1 939 (W39 2 st bize) @@t ©f & @iv 50 O |
Question: | T 1€ B¢ 2 47 NIET ARAESE SHAe AL = yx1073 | 1 @@ W | (Febey
A2
sofFe2)
(2g - KCl &9 (T ©F 74.5 g mol 1)
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Question
D- 100282
?ues.tion Numeric Answer
ype:
FBRE A+ @8 SHNEE B~ @ FPE IYIEFE 102 8 181 pm | G2 SEHSHE Smaig oW omid
Ouest RIS FRCS (RET 224 | GF (@I B~ SIRFS TR Tl e @ IS-7i6e (CCP) (7l T3, AT
uestion:
SRR e SR A SES SREH W | (A AB &9 A% (9F) T PM |
(FRbew #jefoea)
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Question
D- 100283
?ues.tion Numeric Answer
ype:
2a, TACHR G0 GG I Gl LFGER Tlod Jow Slbae] 28 km s~ 1|
_ (941 a,= Q@I FAE 52.9 pm)
Question:

(2 ¢ FERREEE ©F =9.1x10 3 kg
2T &I h=6.63x10~3 Js)

Topic:

Chemistry-Section B
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Question
D- 100284
_?ues.tion Numeric Answer
ype:
96 FICE 0.1 M NaOH %09 400 mL &3 ARS 0.2 M HNO, B9 600 mL G @Cﬁ"{ TS
_ Sl 67 x10~2°C| (Frevew o))
Question:
(2 Ol (GELE#) =57 k] mol ~ !
SR Wl ©lel =4.2 JK-1 g~ 1)
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Question
D- 100285
?ues.tion Numeric Answer
ype:
303 K ©I#¥Iara Sieew W4 fwed O, 9711 Jugw S slel 21 24 | 1 B0 oeel waige O, Mew
Question: | T (ITEE A2l I (fFebew Jsf124T)
(&G : 303 K SI=IAA O, 97 (T 74 &37F =46.82 k bar <& M 517 =0.920 bar)
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Question
D- 100286
Question .
Type: Numeric Answer
298 K SI#{=I@r PbS 93 TIRTe! @9ff% 8 x 10 ~28 23771 & ©#¥ia [ea Siiel PbS «F T[5! x x 10~ 16
mol .71
Question:
x @3 T | (Fbew Aefza)
(egres 2 = 1.41)
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Question
D- 100287
Question

Type:

Numeric Answer




- [X] [Y] fafeFam s=ige 2=

mol L1 mol L1 mol L~1min—1
I 0.1 0.1 2x10~3
II 1 0.2 4x10-3
Question: I1I 04 0.4 mx1073
1Y 0.1 0.2 2x103
X @R Y <& Rl X @@ Ao 298 SR @38 Y G AT @R | ©C@ m '8 1 97 LIS
T T5ite | (FeBem sjefream)
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Question
D 100288
Question .
Type: Numeric Answer
Question: @ (REiri=ioiEe (Rfen sz srifre 7=l 5f0e) @ suiEe snifres 71 R
(ANGIZT IF TR |
Topic: Chemistry-Section B
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Question
D 100289
_?;pees:tion Numeric Answer
A9lBE @IRSRE, 29i3E 1.0 g QIS @t a1, 1, 2, 2-tetrabromopropane 213 T (27%
#iffe)) | fafam =i 1, 1, 2, 2-tetrabromopropane €9 IR x10~1 g |
Question:
(7jef71R20T)
(G 7, @I =80 g/mol )
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Item No: a0
Question
D 100290
Question

Type:
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Question:

[Fe(CN) ]3>~ 0 Srm-a< (210 SRRIL0) Solel (17 2eal The | Al =& e e @2
GO (TSR (P (AR «fe= wAfzwe (- ) Al (FBew sefRa)




